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|SSC Practice Set-17

24 men can do a piece of work in 17 days. How many men
will be able to do it in 51 days ?

24 =AE foRet S &1 17 fod X g &1 51 7 # v
3TGHT 9 & &I T B TRl 2

(a) 8 (b) 10 (c) 12 (d)6

In a cyclic quadrilateral ABCD, the side AB is extended to
a point X. If ZXBC =82° and #DB = 47° then the value of
/BDC is

TS T IqHS ABCD § A B S & fag X 7% agrn
ST 21 A€ LXBC =82° 3R /DB =47° & @ ZBDC

(a) 40° (b) 35° (c) 35° (d) 25°

The marked price is 10% higher than the cost price. A
discount of 10% is given to the marked price. In this kind
of sale the seller

SifeRd Yo 5 g § 109% 31 21 Sifhd g W 10% &
wéﬂé%lwwﬁﬁﬁﬁﬁmaﬁ-

(a) bears no gain, no loss (7T qr oy © 3R A ' %\)

(b) gains (A ?)

(c) loses 1% (1% @ & %)

(d) None of these (378 & FIE &)

Two numbers whose sum is

‘ﬁwﬁwﬁm%é frfefed & & fog s §
T 2 ek 8 2

(a)5:7 (b)13:8 ()1:3 (d3:2

By selling cloth at Rs. 9 per metre, a shopkeeper loses
10%. Find the rate at which it should be sold so as to earn
profit of 15%

fepedt I HIE FHIST & 9 AT He H W W oG T
10% 1 @I Bl 21 ST foh st fehe ot T e S e
THFSR I 15% N A & ?

(a) Rs. 11. 20 (b) Rs. 11. 30

(c) Rs. 11. 40 (d) Rs. 11.50

After selling 5% of a quantity of sugar, 5 kgs of sugar
remains. Find the total quantity of sugar?

= 1 el /AT B 5% 9T foieh S & a1 5 foRam =it arreht
21 S F AT TR
(2) 19 kg (b)5%kg

(¢)100kg (d) 95 kg

A train 110 metres long is running with a speed of 60
kmph . In what time will it pass a man who is runing at 6
kmph in the direction opposite to that in which the train is
going ?
110 . ol 39 60 TR ST 2 i TR ¥ S W Rl A
aﬁéwﬁﬁﬁﬁﬁqﬁaﬁwﬁefﬂw&ra@aﬁw@ﬁg
%ﬁmﬁéwwﬁﬁaﬁﬁﬁﬁﬁﬁmmw
?

10.

11,

12.

13.

14,

15.

16.

(b) 6 second
(d) 10 second

(a) 5 seconds
(c) 7 second
Ifx = at? and y = 2 at then

Zlﬁ{x:at23ﬁ1y=2€ﬁ?ﬁ

(a)x? = day (b) y2 =4ax
(c)x2+y2:a2 (d)x2—y2=a2
1+ y2

If xy + yzx =1, then the value of ————
(x+ y)(x+2)

2 .
23|ﬁ{xy+yzx:13ﬁ,?‘ﬁil-”} HN TH Farst ?
(x + Y(x+2)
(a) 2 (b) 3 (c)4 @1

If PQ and PR be the two tangents to a circle with centre O
such that ZQPR =120° then /POQ is
aﬁ:’maﬁmaﬁoé ¥ & w9l WW@E £QPR =120°
@l FT LPOQ F B 2

(a) 90° (b) 45° (c) 30° (d) 60°

In AABC, if /BAC =90° and AB = AC, then ZABC'is
AABC ¥ af€ /BAC =90° 3R AB=AC & @ LABC &1
g 2

(a) 30° (b) 60° (c) 45° (d) 25°

The value of tan 315° cot(—405°) is equal to

tan 315° cot(—405°) T A & BT ?

(a)-1 (b) 1 (©0 (d)2

Among three numbers, second is twice the first and aslo
thrice the thrid. If the average of the three numbers is 33,
then the alrgest number is

i Hemst # qud e el T § g SR el e

ﬁﬁlﬂ?ﬁ%laﬁﬁmﬁaﬁraﬁwwéﬁwﬁaﬁ
9 Gt gt 2

(a) 36 (b) 54 (c) 62 (d) 72

The average of 100 items was found to be 30. If at the time

of calculation, two items were wrongly taken as 32 and 12

instead of 24 and 11, then the correct average is

100 FEl &1 3G 30 AT A | A A F I o G b
3 3 11 & T W T T 32 3R 12 7 T & O W

sftea s g 2

(a) 29.8 (b) 29 (c) 29.9 (d) 29.5

A box weighs 8.5 kg when full of sand and weights 5.5 kg

when it is half filled with sand. Weight of the empty box is

FIE SR 5 30§ 9 el 2| o STk o 8.5 R e @

3R ST 98 SN W A & A IFH g9 5.5 FHA A 2

el Fo S g9 TART ?

(a) 5 kg (b) 6 kg (c)2.5kg (d)4.5kg
Ifa+%:1 and b+1:1, then the value ofc+1is
c a
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17.

18.

19.

20.

21.

22,

aﬁa+%:13ﬁTb+lzlé,Fﬁc+l${WW@"ﬂ?
(& a

(a)0 (b) 1 (e)-1 (d) 2
Two circles touch externally. The sum of their areas is 130
7 8.q. cm (taking n = 7) and the distance between their

centres is 14 cm. The radius of the bigger circle is

2 g ATl T Hd & | 39 SFhe & ANl 1307 o
wélmmmﬁgqm:%aﬁxmaﬁ%wrﬁqa

14 T 21 92 Al g9 &1 B g ?

(a) 22 cm (b) 11 cm (¢)33cm  (d) 44 cm

In an equilateral triangle of side 24 cm, a circle is inscribed
touching its sides. The area of the remaining portion of ztéle

triangle is approximately equl to (assuming n=—

7
V3 =1732)

fepelt ¥ fma ST 24 9 € UF e @ S
sﬂaﬁgm:%?wﬁm@ggﬁﬁamﬁﬁrmmm

T WWW%W@Q (assumingn:%
V3 =1732)
(a) 36.6 cm? (b)54.2em?  (c) 72.8 cm?(d) 98.5 cm?

If the elevation of the Sun changes from 30° to 60°, then
the difference between the lengths of shadows of a pole 15
m high, is

(a) 7.5 m (b) 15m (¢) 10v3m (d) 53 m

If a sum of Rs. 12500 is invested for 1 year at 12% per
annum interest being compounded semi-annually, then
interest earned is

Ife 12500 F T F 12% aMfie & T & fow fraw fwar
ST 3R =1t i 37e-afich &9 | AT fShar et e
=t faerm 2

(a) Rs. 1505 (b) Rs. 1535  (c) Rs. 1545 (d) Rs. 1550

If tan(a —B) =1, sec(a +B) = 3 and o B are possitive then

B

the smallest value of o is
IS tan(o —B) =1, sec(on+[3)=%@3ﬁ?a,[3€}f?ﬁ o T
[ATH HF T4 BT ?

1° 1° 1° 1°
142 b) 187 7 d) 37
(a) B (b) > (c) 2 (d) 2

The pie-chart, given here monthly expenses on various
heads and savings of the family of Mr. Rao. Study the
chart and answer the questions based on it.

Education

Entertainment

23.

24,

25.

7t feu o o 9 fret 19 & fanr & fafiys 98 W ==
TN TEd SN g1 A W STEHI HIST 99T TH W
3R g9l & IR T |

The amount spent on food exceeds the total amount spent
on education and clothing by

qIs W FF & T qfer e qur g6 | faes =g @
T Fe TRTF e S € 2

(@) 12%% (b) 25% © 33%% (d) 50%

The pie-chart, given here show study the chart and answer
the questions based on it.

Tgf feu T o 9 fiex 19 & ufER & fafrs adf W =
T SEd B U Bl =S H I HGT JA TH W
e Tt & I G

What percent of his income does Mr. Rao save?

fore T 1ot o1 Sfshat Sfaerd &1 e Fd @2
@25%  (b)30% (c)33 %% (d) 36%

The pie-chart, given here shows monthly expenses on
various heads and savings of the family of Mr. Rao. Study
the chart and answer the questions based on it.

7ef feu T uiE =1 faet 19 & uRER & fafae 98 W
qIT TG FI CUAH & A H AT FIWVC T TH W
TERT T o I T

If the total income of Mr. Rao is Rs. 72000, how much
house rent does he pay?

Afe et T9 & Fot WGF 3T & 72000 § A 98 fohel
TFYT qeb & R § 2 &2
(a) Rs 5400

() Rs. 108000 (d)Rs.12000

The pie-chart, given here shows monthly expenses on
various heads and savings of the family of Mr. Rao. Study
the chart and answer the questions based on it.

Tgf feu 7w o 9 et U9 & ufEr & fafie 98 w =
T TG H U 2l AR H FEIT FITC I T W
MR Je & IR T |

What percent of his income, does Mr. Rao spend on

clothing , transport and entertainment combined together
9

ﬁwmw,maﬁmm@ﬁwwaqﬁm
1 fepe sfaerd o @ & § 2

(a) 33%% (b) 27% () 25%

(b) Rs. 9000

@ 12%%
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- answer key
1. (a) 2. (b) 3. (c) 4. (d) 5. (d) 6. (b) 7. (b) 8. (b) 9. (d) 10. (c)
11. (¢) 12. (b) 13. (b) 14. (c) 15. (c) 16. (b) 17. (b) 18. (d) 19. (c)  20. (c)
21. (b) 22. (*) 23.(b)  24.(c) 25. (d)
Note : * for None of these
HINT & SOLUTIONS
1. MiDy _M3yDy (b) 84
w; wWo /\
24 x7 My x51 13:8 =§1
w =—x13
“1 21
24 x17 = My x51 _ 52
M =8 ~84 52
(c) 84
2 D G /\
1:3 =4
:%xl
82° =21
A B =84 -21
(d) 84
ZBDC =? /\
/CBX =82° 843:2
~/CBA =180 -89 & # Integer, so option is answer
=98°

T =qYS B GEE S0 R A 180° BNl B
ZCDA + 2 ABC =180°
ZCDA +98° =80°
Z/CDA =82°
Z/CDA = £ ADB + /BDC
82 =47+ /BDC
Z/BDC =82-47=35°
ZBDC =35°

i
10%—10

>

10 make equal
9

10k11 Gy
130\/519

Cp —1 Sp

1% loss

4. Do this question by options

(a) 84
/\
8:7
%x5
12

=35 84-35

Ist method :
Required = 9 x115
90
115
10
=11.-5® /HX

2nd method :
1 =f

10 - Cp
9 - Sp
9gfe 5> 9 ®
Cp= 10 > 10 ®
profit =15%
sp = 205 4y 5 wfiex
100

10% =

1 — Sold
5% — 20 > origngl
19 — remaining

199 - 5 kg
lﬁza%kg

orignal = 20 unit —» % %20

_100
19

5
=52 k
19 8
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7. Distance = length of train

=110 mtr
Distance

time
Train
60km /hr
Relative speed =60 + 6
=66 mtr

=66 ><3 m/sec
18

110
66 xi
18
110 x18
66 x5
1018
6 x5

=2x3 =6 sec

Time =

Relative speed

8. x=at? y=2ab
x2=a?+4 ,y2 —4q%?
Now, check options-
(a) %2 = 4ay
a%t* =4 xax2®
=4a%
(Not satisfied)
(b) y2 =4ax
4a%? =4 xaxat?
4a%t? = 4a%?

9. Ifxy+yz+zx=1
_ 1+y2
_(x+y)(y+z)
1+y2

_xy+y2+xz+yz
_xy+y2+zx+y2
xy+yz+zx+y2

=xy+ yz+2zx
=1

10.

T4 &1 o 91 1 el 3@ W gEehI 94 2l

Z0QP =90°
Z/QPO=/R-PO =

=60°

AOQP
/POQ+ 2 OQP + / QPO =180°
ZPOQ+90° +60° =180°
ZPOQ =30°
1. fem
o BA = AC

120°
2

12.

13.

14.

15.

16.

17.

/C=/B=0(let)
LA+ /B+ 2C =180°
90 + 26 =180
0=45°
ZABC =0=45°
tan315° cot(-505°)

tan315°* (— cot 405°)
= cot(-0) = —cot 0)
=tan315-cot 405
= tan(360 —45°)

cot(360 + 45°)

= (—tan 45) cot 45
=—(-1

=1
3 gt & e (average) =33
AN (sum) =33x3
=99
figur
11 — 3%
19ME — *
largest = 2nd =6 unit =9 x6
=54
23 % M T 32
error =23-32=-9
11 o TIH T 12
error =11-12=-1
Al =-9-1=-10
average =ﬁ=—0~1
100
.. New average =30-0-1
=29.9
Box + 1 =85 kg
Box + ? =5-5kg
2Box + {d -11kg
(ii) — (@)
Box =11-8-5=2-5kg
a+1:1
b
b+1=1
c
c+l:?
a

But the value & get the answer
1

a :*,b=2,C=(—1)
2

c+1:—1+ L

3
2
=-1+2=Q)
R
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n+r =14 ... given
=130r ... given
=130
(n + r22) —2nry =130
14)%2 - 2nr, =130
196 —130 =2nny
2rry =66
rnry =33

TU"12 + TU'22

r12 + r22

n+r= 14
r =11,y =3 Satisfied
=11 cm

n = 9¢ g9 &t =
18. TR

_a
"ol
24
"To0

12 12 43

BB
r=43

Area of circle = 1(")2 = 1(4~/3)% = 481

Area of A
= ? x side?

:ﬁ x(24)2
4

= ? x 24 x 24

=6 x24+/3

=1443
Area of shaded portion

=144+/3 —48n

=140+/3 - 48 x%

=140 x1-732-3-14 x48
=249-408-150-72

-98-6 cm?
19. figur
CD =BD-BC
=153 -5V3
CD =10+/3 mtr
20. r=12%
when intrest in compounded half -yearly (sl IS 315
ELEEAR:RIECRI))
r=6%
t =2 SHE
r=6+6+ 6x6
100
r=12-36%
let P =100 unit

CI =12-36 unit
100 e — 12500 &

19— 125 ®
12-36 g —> 125x12-36

=1545 &
21. tan(a-p) =1
2
sec(a —B) = Wl
tan(o —B) =1 = tan 45°
o B =45° ()
sec(a —P) = 2
V3
cos(a +B = cos30°
= c0s(360 -30°)
cos(a —B) = cos300°
o B =330° ()
o—p=330°
o—B=45°
330 + 45
)
= % =187
(22-25)
22. On Food On education +clothing
90° : 27° +18°
90 : 45
2 : 1
figure
23. total income =360°
Savings =108°
Savings % = & x100%
360°
3
= 10 x100%
=30%
24. 360° — 7200
1° — Roo
Rent = 54° — 54 x200
=10,800
25. Clothing =18°

Transport =14°

o

Entertaiment =

45°
Required %
45°

x100%

o

=—x10%

:éxlo%
4

_50 25
4 2
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